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Lösungen zu den Übungen zu linearer 

Substitution 

1. ∫ (5𝑥 − 1)33

0
dx = 

1

5
∙ [

1

4
∙ 𝑥4]

−1

14
 = 

1

20
∙ 144 −

1

20
∙ (−1)4 = 1920,75 

2. ∫ (−7 − 3𝑥)5𝑑𝑥
4

2
 =  −

1

3
∙ [

1

6
∙ 𝑥6]

−13

−19
= −

1

18
∙ (−19)6 −(−

1

18
∙ (−13)6) = −2345504 

3. ∫ 2 ∙ (−𝑥 +
2

3
)

6
𝑑𝑥

3

−1
 =  (−1) ∙ [

2

7
∙ 𝑥7]5

3

−
7

3
 = −

2

7
∙ (−

7

3
)7 −(−

2

7
∙ (

5

3
)

7
) = 117,796 

4. ∫ (𝑎𝑥 − 𝑏)7𝑑𝑥
3

2
 =  

1

𝑎
∙ [

1

8
∙ 𝑥8]

2𝑎−𝑏

3𝑎−𝑏
= 

1

8𝑎
∙ (3𝑎 − 𝑏)8 −

1

8𝑎
∙ (2𝑎 − 𝑏)8 

5. ∫ √2𝑥 + 8 𝑑𝑥
2

0
 = 

1

2
∙ [

1

1.5
∙ 𝑥1,5]

8

12
 = 

1

3
∙ 121,5 −

1

3
∙ 81,5  ≈ 6,3139 

6. ∫ √20 − 4𝑥
1

−4
𝑑𝑥 =  −

1

4
∙ [

1

1.5
∙ 𝑥1,5]

36

16
 = −

1

6
∙ (16)1,5 −(−

1

6
∙ (36)1,5) = 25,3̅ 

7. ∫ √5𝑥 − 10
3

 𝑑𝑥
5

3
 = 

1

5
∙ [

3

4
∙ 𝑥

4

3]
5

15

= 
3

20
∙ 15

4

3 −
3

20
∙ 5

4

3 ≈ 4,2665 

8.  ∫ √12 + 10𝑥
43

−1
 dx = 

1

10
∙ [

4

5
∙ 𝑥

5

4]
2

42

= 
2

25
∙ 42

5

4 −
2

25
∙ 2

5

4 ≈ 8,3634 

9. ∫ 𝑒3𝑥+6𝑑𝑥
3

−3
 = 

1

3
∙ [𝑒𝑥]−3

15  = 
1

3
∙ 𝑒15 −

1

3
∙ 𝑒−3 ≈ 1089672 

10. ∫ (−3) ∙ 𝑒−0,5𝑥+2𝑑𝑥
1

−2
 = 

−3

−0,5
∙ [𝑒𝑥]3

1,5  =  6 ∙ 𝑒1,5 − 6 ∙ 𝑒3 ≈  −93,623 

11. ∫
1

𝑒−2𝑥−8 𝑑𝑥
2

1
 =∫ 𝑒2𝑥+8𝑑𝑥

2

1
 = 

1

2
∙ [𝑒𝑥]10

12 = 
1

2
∙ 𝑒12 −

1

2
∙ 𝑒10 ≈ 70364,2 

12. ∫ 4 ∙ 𝑒𝑘𝑥𝑑𝑥
𝑏

𝑎
= 

4

𝑘
∙ [𝑒𝑥]𝑘𝑎

𝑘𝑏  = 
4

𝑘
∙ 𝑒𝑘𝑏 −

4

𝑘
∙ 𝑒𝑘𝑎 
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13. ∫ sin(6𝑥) 𝑑𝑥
𝜋

0
= 

1

6
∙ [−cos (𝑥)]0

6𝜋 = 
1

6
∙ (−cos (6𝜋)) − 

1

6
∙ (−cos (0)) = 0 

14. ∫ −6 ∙ cos(−4𝑥 + 1) 𝑑𝑥
1,5

0,5
 = 

−6

−4
∙ [sin (𝑥)]−1

−5 = 1,5 ∙ sin(−5) – 1,5 ∙ sin(−1) ≈ 2,7 

15. ∫ sin(2 ∙ (4𝑥 − 3)) 𝑑𝑥
2

0
= ∫ sin(8𝑥 − 6) 𝑑𝑥

2

0
 

= 
1

8
∙ [−cos (𝑥)]−6

10  = 
1

8
∙ (−cos (10)) − 

1

6
∙ (−cos (−6)) ≈ 0,225 

16. ∫ sin(𝑎𝑥² + 𝑏) 𝑑𝑎
5

−2
= = 

1

𝑥2
∙ [−cos (𝑥)]−2𝑥2+𝑏

5𝑥2+𝑏   

= 
1

𝑥2
∙ (−cos (5𝑥2 + 𝑏)) − 

1

𝑥2
∙ (−cos (−2𝑥2 + 𝑏)) = − 

1

𝑥2
∙ cos(5𝑥2 + 𝑏) + 

1

𝑥2
∙ cos (−2𝑥2 + 𝑏) 
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